
AP ECONOMICS CHAPTER 19 STUDY GUIDE

1.
Classical economists argued that: 

A)
aggregate demand is inherently unstable in a capitalist economy. 

B)
the aggregate supply curve is horizontal to the full-employment level of output in the economy. 

C)
the unemployment rate is inversely related to the price level in the economy. 

D)
a laissez-faire policy of government is best in a capitalist economy. 

2.
According the classical economic theory, the reason that firms do not change production behavior when the price level decreases is because: 

A)
output would rise along with product prices to leave real profits  unchanged. 

B)
output and product prices would rise, offsetting any change in real profits or output. 

C)
input costs would fall along with product prices to leave real profits and output unchanged. 

D)
input costs would fall, but product prices would rise, offsetting any change in real profits or output. 

3.
The aggregate supply curve in the Keynesian model is: 

A)
vertical at the full employment output level. 

B)
horizontal to the full employment output level. 

C)
positively sloped to the full employment output level. 

D)
negatively sloped to the full employment output level. 
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4.
Graph B above illustrates the: 

A)
Keynesian view of the macroeconomics. 

B)
classical view of the macroeconomics. 

C)
real-business cycle view of the macroeconomics. 

D)
rational expectations view of the macroeconomics. 

5.
Refer to the above graphs.  According to classical theory, rapid price and wage adjustments will: 

A)
keep the economy functioning at its potential output, Qf, as shown in graph A. 

B)
keep the economy functioning with a level of unemployment, Qu, as shown in graph B. 

C)
not affect the price level because the aggregate supply curve is horizontal, as shown in graph B. 

D)
affect the real domestic output, as shown by the decrease from Qf to Qu due to a decrease in aggregate demand in graph A. 

6.
According to mainstream economists the basic determinant of real output, employment, and the price level is: 

A)
information and people's expectations. 

B)
the level of aggregate expenditures.
 
C)
incentive to work, save, and invest. 

D)
the supply of money. 

7.
From the monetarist perspective,: 

A)
changes in investment spending are a major source of macroeconomic instability. 

B)
inappropriate monetary policy is a major source of macroeconomic stability. 

C)
adverse aggregate supply shocks are a major source of macroeconomic instability. 

D)
the fact that prices and wages are flexible is a major source of macroeconomic instability. 

8.
The equation of exchange is: 

A)
MP = QV.    B)  PV = MQ.   

 C)  MV = PQ.    D)  M = V/PQ. 

9.
Given the equation of exchange, if V is stable, an increase in M will necessarily increase: 

A)
the demand for money. 

B)
government spending.

C)
nominal GDP. 

D)
velocity. 

10.
From the strict monetarist perspective, a large increase in the money supply will have: 

A)
a large impact on the velocity of money and a large impact on nominal output. 

B)
a large impact on the velocity of money and a small impact on nominal output. 

C)
no effect on the velocity of money and a large impact on nominal output. 

D)
no effect on the velocity of money and a small impact on the nominal output. 

11.
If nominal GDP is $848 billion and the velocity of money is 4, the: 

A)
money supply is $170 billion.

B)
money supply is $212 billion.
 
C)
consumer price index is 340. 

D)
average level of prices is $170 billion. 

12.
If M is $800, P is $2, and Q is 1,200, then: 

A)
aggregate expenditures will be $1,600. 

B)
aggregate expenditures will be $960,000. 

C)
V must be 3. 

D)
V must be 1.5. 

13.
If the economy diverges from its full-employment output, new classical economics would suggest that: 

A)
a change in the velocity of money would be all that is needed to return it to its full-employment output. 

B)
an improvement in insider-outsider relationships is all that is  needed to return it to its full-employment output. 

C)
an efficiency wage in the economy would return it to its full-employment output. 

D)
internal mechanisms within the economy would automatically return it to its full-employment output. 
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14.
Refer to the above graph.  Assume that the economy is in initial equilibrium where AD1 intersects AS1.  If there is an unanticipated increase in aggregate demand, then according to new classical economics the economy will self-correct with a: 

A)
movement from point B to point A.

B)
movement from point A to point B.
 
C)
shift from AS1 to AS2. 
 
D)
shift from AD2 to AD1. 

15.
Refer to the above graph.  Assume that the economy is in initial equilibrium where AD1 intersects AS1.  If there is an unanticipated increase in aggregate demand and the economy self-corrects, then the adjustment path would go from point: 

A)
A to B.    B)  A to B to C.    

C)  B to A to D.    D)  A to B to C to D. 

16.
Refer to the above graph.  Assume that the economy is in initial equilibrium where AD1 intersects AS1.  If there is an anticipated increase in aggregate demand to AD2, then according to classical economists, the path for adjustment runs from point: 

A)
A to B to C.    B)  A to D to C.   

C)  A to C.    D)  A to B. 

17.
Refer to the above graph.  Assume that the economy is in initial equilibrium where AD1 intersects AS1.  If there is an anticipated increase in aggregate demand to AD2, then according to rational expectations theory, the path for adjustment runs from point: 

A)
A to B to C.    B)  A to D to C.    C)  A to C.    D)  A to B. 

18.
In the view of rational expectations theory,: 

A)
people make economic forecasts that are based on insider-outsider relationships and self-fulfilling prophecies. 

B)
people form beliefs about future economic outcomes that accurately reflect the likelihood that those outcomes will occur. 

C)
people form their expectations on present realities and only gradually change their expectations as experience unfolds. 

D)
the economy does not respond quickly to changes in prices, which causes a misallocation of economic resources. 

19.
A mainstream criticism of a key assumption made by rational expectations theory is that: 

A)
the velocity of money is variable, not constant. 

B)
most markets do not adjust instantaneously to changing market conditions. 

C)
expansionary fiscal policy financed by deficit spending may crowd out investment. 

D)
macroeconomic stabilization policies do not affect real output and employment levels. 

20.
An efficiency wage is one that:

A)
increases the velocity of money.

B)
minimizes the firm's labor cost per unit of output.

C)
results from significant changes in technology and labor.

D)
is imposed by government to guarantee workers a living wage.

21.
The notion that the annual rate of increase in the money supply should be equal to the potential annual growth rate of real GDP best describes the: 

A)
monetary rule. 

B)
velocity of money.

C)
equation of exchange. 

D)
crowding-out effect. 

22.
The rule suggested by the monetarists is that the money supply should be increased at the same rate as the potential growth in: 

A)
real GDP.    B)  population.    

C)  the level of prices.    D)  the velocity of money. 
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23.
Refer to the above graph.  Assume that the economy is initially in equilibrium at the intersection of AD1 and AS1.  Then there is economic growth in the economy that shifts AS1 to AS2.  With the shift from AS1 to AS2, the monetary rule would call for an increase in the money supply such that: 

A)
AD1 would shift to AD2. 

B)
AD1 would shift to AD3.

C)
AD1 would shift to AD4. 

D)
AS2 would shift to AS1. 

24.
Refer to the above graph.  Assume that the economy is initially in equilibrium at the intersection of AD1 and AS1.  Then there is economic growth in the economy that shifts AS1 to AS2.  Because of the shift from AS1 to AS2, a monetarist following a monetary rule would call for an increase in aggregate demand such that the price level and quantity of real domestic output would be: 

A)
P4 and Q2.    B)  P3 and Q2.   

C)  P2 and Q2.    D)  P1 and Q2. 

25.
Refer to the above graph.  Assume that the economy is initially in equilibrium at the intersection of AD1 and AS1.  Then there is economic growth in the economy that shifts AS1 to AS2.  Mainstream economists would suggest that the application of a monetary rule to keep prices constant might produce demand-pull inflation because the investment spending might: 

A)
increase and cause the aggregate demand curve to shift from AD1 to AD4. 

B)
decrease and cause the investment demand curve to shift from AD1 to AD4. 

C)
increase and cause the aggregate demand curve to shift from AD1 to AD2. 

D)
decrease and cause the investment demand curve to shift from AD1 to AD2. 

26.
Refer to the above graph.  Assume that the economy is initially in equilibrium at the intersection of AD1 and AS1.  Then there is economic growth in the economy that shifts AS1 to AS2.  Monetarists would suggest that the application of a monetary rule would shift AD1 to: 

A)
AD3, but mainstream economists would suggest that pessimistic business expectations might shift AD1 to AD2. 

B)
AD4, but mainstream economists would suggest that optimistic business expectations might shift AD1 to AD3. 

C)
AD2, but mainstream economists would suggest that optimistic business expectations might shift AD1 to AD4. 

D)
AD3, but mainstream economists would suggest that pessimistic business expectations might shift AS2 to AS1. 

27.
Refer to the above graph.  Assume that the economy is initially in equilibrium at the intersection of AD1 and AS1.  Then there is economic growth in the economy that shifts AS1 to AS2.  If the application of a monetary rule is designed to shift AD1 to AD3, but because of pessimistic business expectations AD1 only shifts to AD2, then mainstream economists would suggest that the actions to be taken to avoid deflation would be to implement a(n): 

A)
expansionary fiscal policy and a tight money policy. 

B)
contractionary fiscal policy and a tight money policy. 

C)
expansionary fiscal policy and an easy money policy. 

D)
contractionary fiscal policy and an easy money policy. 

28.
Crowding-out results from: 

A)
an increase in the supply of money and a decrease in the velocity of money. 

B)
a decrease in the supply of money and an increase in the velocity of money. 

C)
the inverse relationship between the supply of money and nominal GDP. 

D)
deficit financing which increases interest rates and reduces investment. 

29.
From a monetarist perspective, an expansionary fiscal policy might be offset by: 

A)
the buying of government securities by the Federal Reserve. 

B)
the selling of government securities by the Federal Reserve. 

C)
a cut in the Federal funds rate. 

D)
a cut in the discount rate. 

30.
Mainstream macroeconomics would suggest that fiscal policy: 

A)
affects GDP and the price level through changes in aggregate supply. 

B)
changes aggregate demand and GDP through the multiplier process. 

C)
has no effect unless the fiscal policy is accompanied by changes in the money supply. 

D)
is relatively ineffective because the outcomes are anticipated and offset. 
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D
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C
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B
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A
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